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7 100kN/m%E#8z5 | 1.00 | 000 ~ 1.60| 12439 |3mE#Bz5| — ~ — — — | 100kN/ %825 | 1.00 | 10.75 ~ 1607| 12439 |3mE#Z5 - ~ — — —
s 1.00 | 1.60 ~ 938 100.00 | =0t | 0.00 ~ 9.38| 2.49 12.60 s 1.00 | 6.00 ~ 1075 100.00 | =45t | 6.00 ~ 1607| 2.49 12.60
2 100kN/m%E#8z5 | 1.00 | 000 ~ 1.57| 124.02 |3mE#Bz3B| — ~ — — — | 100kN/m%i#8=x5 | 1.00 | 10565 ~ 1581 124.02 |3m%EHBZ 5 - ~ — — —
s 1.00 | 1.57 ~ 9.36 100.00 | =0t | 0.00 ~ 9.36 | 2.41 12,17 s 1.00 | 6.00 ~ 1055 100.00 | =nst | 6,00 ~ 1581 2.41 12,17
3 100kN/m##8x5 | 1.00 | 0.00 ~ 101 11523 |3mZzBAB| — ~ — — — | 100kN/m%i#8=x5 | 1.00 | 10565 ~ 13.61 1156.23 |3m%EiBZ 5 - ~ — — —
s 1.00 | 1.01 ~ 880 100.00 | =nst | 0.00 ~ 880\ 2.19 11.05 s 1.00 | 6.00 ~ 1053 100.00 | =4t | 6.00 ~ 1361|219 11.06
4 100kN/m%E#8z5 | 1.00 | 000 ~ 156 12381 |3mE#Bz5| — ~ — — — | 100kN/ %825 | 1.00 | 1080 ~ 1687| 12381 |3m&E#Z5 - ~ — — —
s 1.00 | 1.56 ~ 9.35 100.00 | =nst | 0.00 ~ 9.35| 2.26 11.42 s 1.00 | 6.00 ~ 1080 100.00 | =4 | 6.00 ~ 1687| 2.26 11.42
5 100kN/m%#8z5 | 1.00 | 000 ~ 1.00| 11508 |3mEBz5| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1268 ~ 1833 115.08 |3mE#BZ% - ~ — — —
s 1.00 | 1.00 ~ 879 100.00 | =nstr | 000 ~ 879\ 2.10 10.60 ThList 1.00 | 6.00 ~ 1268 100.00 | =4t | 6.00 ~ 1833| 2.10 10.60
P 100kN/m%#8z5 | 1.00 | 000 ~ 208 13227 |3mx#Bz5| — ~ — — — | 100kN/ %825 | 1.00 | 1057 ~ 1896| 13227 |3m&E#Z5 - ~ — — —
s 1.00 | 208 ~ 987 100.00 | =0t | 0.00 ~ 9.87| 2.33 11.78 s 1.00 | 6.00 ~ 1057 100.00 | =4t | 6.00 ~ 1896 | 2.53 11.78
7 100kN/m#E#Z5| 100|000 ~ 239 137.37 |3m&E#BZB| — ~ — — — | 100kN/mM%E#BZ5 | 1.00 | 10.74 ~ 20382 137.37 |3mE#BZ% - ~ — — —
ZhLst 1.00 | 239 ~ 1018 100.00 | FhLS | 000 ~ 1018) 2.84 14.36 zhLlst 1.00 | 6.00 ~ 1074 100.00 | TR | 65,00 ~ 20352| 2.84 14.36
3 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhnLst 1.00 | 0oo ~ 721 91.76 | =nLs | 000 ~ 721|248 12.54 ZhLst 1.00 | 6.00 ~ 1052 91.76 | =L | 5,00 ~ 1052| 2.48 12.54
9 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLlst 1.00 | 000 ~ 477 59.50 | Ths | 000 ~ 000\ 1.71 8.66 zhLlst 1.00 | 6.00 ~ 5.00 59.50 | #hst | 6.00 ~ 5600\ 1.71 8.66
100kN/mM%EBZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~




